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plotseql(m, p1l, p2) : Laurent

[-m, +m]

% Laurent Series and sequences

function plotseql(m=1, p1=2, pZ2=2.1)

tln = -m: -1;

tip =01
tl = [tln, tlp];

fl = [zeros(1,m), ((1/p2).~(t1lp+1) - (1/pl). " (t1p+1))];

1 2 =[((1/p1)."(tIn+1) -(1/p2).~(t1n+1)), zerosA,m+1));

f3 .; [(1/p1).~(t1n+1), (_1/p2)."(t1p+1)];

andif
<o

f(pl <=L &&p2Z <=1 &&pl <p2)
tln = -m: O;

tlp=+1: m;
tl1 =[tln tlpl;

fl = [zeros(1,m+1), ((1/p2).”~(tlp-1) - (1/p1).~(t1lp-1))];

f3 = [(1/p1).”~(t1ln-1), (1/p2).”(t1p-1)];

endif

subplot(3, 1, 1);

tom(+l £1)-

Sttt 117,

grid on

%axis([0, m])
title(sprintf("f1 m=%d pl=%g p2=%g", m, pl, p2))

subplot(3, 1, 2);
stem(tl, f2);

gridon
Y%axis([0, m])

title(sprintf("f2 m=%d p1=%g p2=%g", m, pl, p2))

subplot(3, 1, 3);

cteam(+1l  £2)-
1,157

STCTiicT, 197,

grid on

Y%axis([0, mI)
title(sprintf("f3 m=%d pl=%g p2=%g", m, pl, p2))

endfunction
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if (pl >=1 && p2 >=1 && pl < p2)

+1n A 1
LLrr=-=11l. -4,

tlp= 0: m;

tl = [tln, tlp];

fl = [zeros(1,m), ((1/p2).”(t1p+1) - (1/pl).~(t1p+1))];
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f2 =[((1/pl).”(t1n+1) -(1/p2).”~(t1n+1)), zeros(1l,m+1)];
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f3 =[(1/pl).~(tIn+1), (1/p2)."(t1p+1)];
~ I‘J_‘pgl « , N
(T / ) (120)
Ny ()" ()" |0<o)
endif
if (pl <=1&&pP2 <=1 &&pl <p2)
tln =-m: 0;
tlp=+1:m;
tl = {tln, tlp]

fl = [zeros(1,m+1), ((1/p2).” (t1lp-1) - (1/p1).7(tlp-1))];

(™Y Wt
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N ‘o 0 (n<0)
f2 =1((1/p1).”~(tIn-1) -(1/p2).~(tIn-1)), zeros(l,m)];
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plotseg2(m, p1, p2) : Z-trans

ooV Tranes | [-m, +m]
function plotseq2(m=1, pl=2, p2=2.1)

cla;

A
Il
A
I
A

~ ot
]

((p2)."(tln+1) -(pl).”(tln+1)), zeros(L,m+1)];
zeros(l,m), ((pl).”(tlp+1) - (p2).~(t1lp+1))];

— [p— p—

(p2).7(tln+1), (p1). " (t1p+1)];

=)

if(pl>=1&&p2>=1&&pl<p2)
tln =-m: O;

tlp=+1: m;
tl = [tln, tlp];

X1 = [((p2).”(t1ln-

Y')—rar
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2).7(

NZ <
X3 =1[(p
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=
‘III

subplot(3,-1, 1);
stem(tl, X1);

grid-on
%axis([0, m])

title(sprintf("X1 m=%d pl1=%g p2=%g", m, pl, p2))

subplot(3, 1, 2);

<tem(t1l - X2
</

SCCTTIVC4L, 7Y\

grid on

%axis([0, m])
title(sprintf("X2 m=%d pl=%g p2=%g", m, pl, p2))

subplot(3, 1, 3);
stem(tl, X3);

~ricl-An
yrid orl

%axis([0, m])

title(sprintf("X3 m=%d p1=%g p2=%g", m, p1, p2))

endfunction
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if(pl <=1&&p2<=1&&pl <p2)
tln = -m: -1;

tlp= 0:m;
tl = [tln, tl p];
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N sl [(p2).~(t1n+1), (p1).~(t1p+1)]; (n<o)| 0
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tln = -m: O;

tilp=+1:m;
tl = [tln, tlp];

N\

()

[s]

(n>0)

0

L f an 0! — 'P. n -\
X2 = [zeros(l,m+¥f‘)((p1)."((tl)lo-l) - (p2). "~ (tlp-1))]; ()’1<0>
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